Transfers Report

This report contains the transfers results.

Contest Name	Ward 10 - West Garioch
Valid Votes	4,257
Positions to be Filled	3
Quota	1,065

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Victoria HARPER	Scottish National Party (SNP)		840
Sebastian LESLIE	Scottish Conservative and Unionist		1,809
Elaine MITCHELL	Scottish National Party (SNP)		439
Richard OPENSHAW	Scottish Green Party		306
Hazel SMITH	Scottish Liberal Democrats		666
Peter YOUNG	Scottish Labour Party		197
		Total	4,257

Candidate Sebastian LESLIE Elected with 1,809 votes, being in excess of the quota of 1,065

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Sebastian LESLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Victoria HARPER	44	0.41127	18.09588
Transfer to Sebastian LESLIE	0	0.00000	0.00000
Transfer to Elaine MITCHELL	28	0.41127	11.51556
Transfer to Richard OPENSHAW	116	0.41127	47.70732
Transfer to Hazel SMITH	839	0.41127	345.05553
Transfer to Peter YOUNG	169	0.41127	69.50463
Value of non-transferable ballot papers			252.12108
	Total		744.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Peter YOUNG

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Victoria HARPER	3	0.41127	1.23381
Transfer to Victoria HARPER	15	1.00000	15.00000
Transfer to Sebastian LESLIE	0	0.00000	0.00000
Transfer to Elaine MITCHELL	3	0.41127	1.23381
Transfer to Elaine MITCHELL	9	1.00000	9.00000
Transfer to Richard OPENSHAW	19	0.41127	7.81413
Transfer to Richard OPENSHAW	40	1.00000	40.00000
Transfer to Hazel SMITH	116	0.41127	47.70732
Transfer to Hazel SMITH	97	1.00000	97.00000
Value of non-transferable ballot papers			47.51556
	Total		266.50463

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Hazel SMITH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Victoria HARPER	26	0.03229	0.83954
Transfer to Victoria HARPER	49	0.07853	3.84797
Transfer to Sebastian LESLIE	0	0.00000	0.00000
Transfer to Elaine MITCHELL	18	0.03229	0.58122
Transfer to Elaine MITCHELL	55	0.07853	4.31915
Transfer to Richard OPENSHAW	253	0.03229	8.16937
Transfer to Richard OPENSHAW	341	0.07853	26.77873
Transfer to Hazel SMITH	0	0.00000	0.00000
Transfer to Peter YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			46.22687
	Total		90.76285

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Richard OPENSHAW

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Victoria HARPER	34	0.03229	1.09786
Transfer to Victoria HARPER	38	0.07853	2.98414
Transfer to Victoria HARPER	12	0.41127	4.93524
Transfer to Victoria HARPER	91	1.00000	91.00000
Transfer to Sebastian LESLIE	0	0.00000	0.00000
Transfer to Elaine MITCHELL	61	0.03229	1.96969
Transfer to Elaine MITCHELL	68	0.07853	5.34004
Transfer to Elaine MITCHELL	16	0.41127	6.58032
Transfer to Elaine MITCHELL	98	1.00000	98.00000
Transfer to Hazel SMITH	0	0.00000	0.00000
Transfer to Peter YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			224.56226

Total

436.46955

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Elaine MITCHELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Victoria HARPER	69	0.03229	2.22801
Transfer to Victoria HARPER	93	0.07853	7.30329
Transfer to Victoria HARPER	26	0.41127	10.69302
Transfer to Victoria HARPER	488	1.00000	488.00000
Transfer to Sebastian LESLIE	0	0.00000	0.00000
Transfer to Richard OPENSHAW	0	0.00000	0.00000
Transfer to Hazel SMITH	0	0.00000	0.00000
Transfer to Peter YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			69.31547
	Total		577.53979